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NEW QUESTION 1
What AWS service must you use if you want to configure an AWS billing alarm? Choose the Correct
Answer

A. CloudWatch

B. CloudMonitor

C. Consolidated billing
D. CloudTrail

Answer: A

Explanation:
CloudWatch is the AWS service that allows you to collect metrics, and create alarms based on those metrics. Billing metrics can be tracked in CloudWatch,
therefore billing alarms can be created.

NEW QUESTION 2
What best describes the purpose of having many Availability Zones in each AWS region?
Choose the Correct Answer

A. Multiple Availability Zones allow for fault tolerance but not high availability.

B. Multiple Availability Zones allow for cheaper prices due to competition between them.

C. Multiple Availability Zones allow for duplicate and redundant compute, and data backups.
D. None of the abov

Answer: C

Explanation:
Avalilability Zones work together within a region to provide users with the ability to easily setup and configure redundant architecture and backup solutions

NEW QUESTION 3

Kunal is managing an application running on an on-premises data center. What best describes the challenges he faces that someone using the AWS cloud does
not?

Choose the Correct Answer

A. Kunal must research what size (compute capacity) servers he needs to run his application.
B. Kunal must know how to properly configure network level security.

C. Kunal must predict future growth, and scaling can be costly and time consuming.

D. None of the abov

Answer: C

Explanation:

Scaling is much faster and cost-effecting on the AWS cloud. With on-demand instances and autoscaling, future growth does not have to be predicted. More
compute capacity can be added gradually

as demand increases.

NEW QUESTION 4
What best describes what AWS is?
Choose the Correct Answer

A. AWS is an online retailer

B. AWS is the cloud.

C. AWS is a cloud services provider.
D. None of the abov

Answer: C

NEW QUESTION 5
Before moving and/or storing object in AWS Glacier, what considerations should you make regarding the data you want to store.
Choose the Correct Answer

A. Make sure the data is properly formatted for storage Glacier.

B. Make sure the total amount of data you want to store in under 1 terabyte in size.

C. Make sure you are ok with it taking at minimum a few minutes to retrieve the data once stored in Glacier.
D. None of the abov

Answer: C
Explanation:

Objects stored in Glacier take time to retrieve. You can pay for expedited retrieval, which will take several minutes - OR wait several hours (for normal retrieval).

NEW QUESTION 6
John is working with a large data set, and he needs to import it into a relational database service. What AWS service will meet his needs?
Choose the Correct Answer
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A. RDS

B. Redshift

C. NoSQL

D. DynamoDB

Answer: A

Explanation:
RDS is AWS's relational database service.

NEW QUESTION 7

Thomas is managing the access rights and credentials for all the employees that have access to his company's AWS account. This morning, his was notified that
some of these accounts may have been compromised, and he now needs to change the password policy and re-generate a new password for all users. What
AWS service does Thomas need to use in order to accomplish this?

Choose the Correct Answer

A. Policy and Access Management
B. Elastic Cloud Compute

C. Access Management

D. None of the abov

Answer: D

Explanation:
Identity and Access Management (IAM) is the AWS service where password policies and user credentials are managed. (Policy and Access Management as a
service does not exist).

NEW QUESTION 8
What acts as an address (like a mailing address) for a web server located on a network?
Choose the Correct Answer

A. DNS Server

B. IP Address

C. Common language domain name
D. None of the above

Answer: B

Explanation:
An IP address is a severs address on a network. It is how traffic/request get routed to it (much like a piece of mail gets routed to your home).

NEW QUESTION 9
What services has built-in DDoS mitigation and/or protection?
Choose the Correct Answer

A.EC2
B. RDS
C. SNS
D. None of the above

Answer: D

Explanation:
AWS services with built-in DDoS migigation/protection include: 1) Route 53 2) CloudFront 3) WAF (web application firewall) 4) Elastic Load Balancing 5) VPCs and
Security Groups

NEW QUESTION 10
Under what circumstances would someone want to use ElastiCache? (Select all that apply) Choose the 2 Correct answers:

A. They need a NoSQL database option

B. They need to use Edge Locations to cache content

C. The need improved improve the performance of their web application.
D. They need in-memory data store servic

Answer: CD

Explanation:
ElastiCache is used as an in-memory data store or cache in the cloud. Benefits include improved performance for web applications (that rely on information stored
in a database). Edge Locations are used for caching content with the CloudFront service, so that is not a answer here.

NEW QUESTION 10
What AWS service uses Edge Locations for content caching?
Choose the Correct Answer

A. ElastiCache

B. Route 53
C. CloudFront
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D. CloudCache

Answer: C

Explanation:
CloudFront is a content caching service provided by AWS that utilizes "Edge Locations,"” which are AWS data centers located all around the world.

NEW QUESTION 13
What is the purpose of AWS's Route 53 service? (Select all that apply) Choose the 2 Correct answers:

A. Content Caching

B. Database Management

C. Domain Registration

D. Domain Name System (DNS) service

Answer: CD

Explanation:
Route 53 is AWS's domain and DNS management service. You can use it to register new domain names, as well as manage DNS record sets.

NEW QUESTION 17

Tracy has created a web application, placing it's underlining infrastructure in the N. Virginia (US-East-

1) region. After several months, Tracy notices that much of the traffic coming to her website is coming from Japan. What can Tracy do to (best) help reduce latency
for her users in Japan?

Choose the Correct Answer

A. Copy the current VPC and located in US-East-1 and ask AWS to move it to a region closest to Japan

B. Create a and manage a complete duplicate copy of the web application and its infrastructure in a region closest to Japan.
C. Create a CDN using CloudFront, making sure the proper content is cached at Edge Locations closest to Japan.

D. Create a CDN using CloudCache, making sure the proper content is cached at Edge Locations closest to Japan.

Answer: C

Explanation:
CloudFront is AWS's content delivery network (CDN) service. You can use it to cache web content at edge locations what are closest to you customers. This will
decrease latency for the customer and improve overall performance.

NEW QUESTION 19
What best describes an AWS region?
Choose the Correct Answer

A. A specific location where an AWS data center is located.

B. An isolated collection of AWS Availability Zones, of which there are many placed all around the world.
C. The physical networking connections between Availability Zones.

D. A collection of DNS server

Answer: B

Explanation:
An AWS region is an isolated geographical area that is is comprised of three or more AWS Availability Zones.

NEW QUESTION 21
What is the purpose of a DNS server?
Choose the Correct Answer

A. To serve web application content.
B. To convert common language domain names to IP addresses.
C. To convert IP addresses to common language domain names.
D. To act as an internet search engin

Answer: B

Explanation:
Domain name system servers act as a "third party" that provides the service of converting common language domain names to IP addresses (which are required
for a web browser to properly make a request for web content).

NEW QUESTION 25
John, member of your company's development team, needs access to company's AWS account. What AWS service is used to manage such access?
Choose the Correct Answer

A. S3

B. Route 53
C. 1AM

D. EC2

Answer: C
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Explanation:
Identity & Access Management (IAM) is the AWS service where user accounts, credentials, and service access is managed.

NEW QUESTION 29
What is the EC2 AMI Marketplace?
Choose the Correct Answer

A. Where you select the storage type of an EC2 instance.

B. A collection of pay-to-use EC2 AMIs that generally come packaged with licensed enterprise software.
C. Where you store AMIs that you create.

D. Where you select to compute capacity of an EC2 instanc

Answer: B

NEW QUESTION 30
Kunal is logged into his company's AWS account. He tries to access EC2 but is getting an error. What is the most likely reason why he cannot access EC2?
Choose the Correct Answer

A. There is not an IAM access policy attached to his IAM user.
B. He is not part of an IAM Group.

C. He does not have multi-factor authentication (MFA) enabled.
D. There is not an IAM access policy attached to his IAM rol

Answer: A

Explanation:

When an |IAM user is created, that user has NO access to any AWS services. To gain access to an AWS server, an IAM user must have permission granted to
them. This is done by attached an IAM access policy to their IAM user (or through an attached group). However, just being in a group does not

grant access. A proper policy would need to be attached to that group.

NEW QUESTION 33
What AWS database service is used for data warehousing of petabytes of data?
Choose the Correct Answer

A. RDS

B. Elasticache
C. Redshift

D. DynamoDB

Answer: C

Explanation:
Redshift is a fully-managed data warehouse that is perfect for storing petabytes worth of data.

NEW QUESTION 36
What are two open source in-memory engines supported by ElastiCache? Choose the 2 Correct answers:

A. Redis

B. Aurora

C. Cachelt

D. MemcacheD

Answer: AD

NEW QUESTION 39
What is the major difference between AWS's RDS and DynamoDB database services?
Choose the Correct Answer

A. RDS offers NoSQL database options, and DynamoDB offers SQL database options.

B. RDS offers on SQL database option, and DynamoDB offers many NoSQL database options.
C. RDS offers SQL database options, and DynamoDB offers a NoSQL database option.

D. None of the above

Answer: C

Explanation:
RDS is a SQL database service (that offers several database engine options), and DynamoDB is a NoSQL database option that only offers one NoSQL engine.

NEW QUESTION 44
What term best describes the AWS pricing model?
Choose the Correct Answer

A. Pay-all-up-front

B. Pay-as-you-go

C. Pay-all-at-end

D. None of the above
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Answer: B

Explanation:
AWS operates on a pay-as-you-go model. No upfront cost or termination fees.

NEW QUESTION 45
In the AWS Shared Responsibility Model, what is AWS responsible for? (Select all that apply) Choose the 2 Correct answers:

A. Physical security of the AWS data centers

B. Server-side encryption

C. Network level security

D. The maintenance of the hosts virtualization softwar

Answer: AD

NEW QUESTION 46
What best describes the difference between the TCO Calculator and the Cost Explorer?
Choose the Correct Answer

A. The TCO Calculator help you analyze current AWS usage charges; the Cost Explorer helps you estimate the cost savings of using AWS.
B. The TCO Calculator helps you estimate the cost savings of using AWS; the Cost Explorer help you analyze current AWS usage charges.
C. The Cost Explorer helps you calculate hourly EC2 Usage cost; the TCO Calculator is a price list for each AWS service.
D. The Cost Explorer is a price list for each AWS service; the TCO Calculator helps you calculate hourly EC2 Usage cost.

Answer: B
Explanation:

The TCO calculator is a free tool provided by AWS that allows you to estimate the cost savings of using AWS vs. using an on-premises data center. The Cost
Explorer is a free tool that allows you to view charges of your cost (helps you analyze where you are spending money).

NEW QUESTION 51
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